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GENERAL INSTRUCTIONS TO THE EXAMINEES :
1) odfienefi FEuYm TUR IYAUR W A sAfHara: ford|

Candidate must write first his / her Roll No. on the question paper
compulsorily.

2) uvt g w et 2

All the questions are compul sory.
3) UE® U Hl W & TE SW-Yferent ® & ot

Write the answer to each question in the given answer-book only.
4) o= gl ° raies @ue g, 37 vt % I U | g o)

For questions having more than one part, the answers to those parts are to be
written together in continuity.
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5) uv-uA % 9 oISt wutaRer ® foRe TR i qfe / o / femienvme g W R W &
¥ Rl & R T

If thereisany error / difference/ contradiction in Hindi & English versions of the
guestion paper, the question of Hindi version should be treated valid.

6) U w1 I e | g2 U 1 AT 31avd ot |

Write down the serial number of the question before attempting it.

7) 9w s 169 22 ® ek e 21

In Question Nos. 16 to 22 each have internal choice.
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“us - A
SECTION - A

1) wgleredt 99 (i & xv) FreafaRea Twi & W o e foeheq gre IW gieen | fRam |

Choose the correct answer from multiple choice questions (i to xv) and write in
given answer book.

) 2w % form o O Tt fermguTa wew w2 (smem o 2011) ? [1]
) o &) ghamon
T)  ARAA 7) fmw

In which state of the country isthe child sex ratio lowest (Base year 2011)7?

A) Punjab B) Haryana
C) Raasthan D) Bihar

i) wRda Gfaem & e ergese ® srgyaat i I9ge foren e 27 [1]
) s1.-14 ) 3g.-15
") 34.-16 3) 3q.-1/
Inwhich articleof the Indian constitution untouchability has been eimination?
A) Article-14 B) Article-15
C) Article-16 D) Article-17

i) WA H g o SRR srfeem e e gen ? [1]
#A) wa1951 q) w12001
") @a2005 3) &12006

When did the Right to information Act come into forcein India?
A) Year 1951 B) Year 2001
C) Year 2005 D) Year 2006
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iv) sitenfirer ot o en? [1]
HA) OO IR Re Rl UaA
)  cured g Fafa | free/ w
¥) IR AU TR Uged & g
3)  ugh @t
What was deindustrialisation?
A) Declineof traditional industries
B) Declinein production and exports
C) Declineinimportance of ancient trading cities
D) All of theabove
V) Siufaies ara d TRy ufeenfiar o ot e [1]
A) WRAE WH 9 UM & e 9 FHaia # s
q) VRS AT
) forehe gl
q) A HE T
What was the 'Manchester competition' in colonia India?
A) Declinein production and export of Indian silk and cotton
B) Chess competition
C) Cricket competition
D) None of these

vi) wra# ‘fafew shenfieror & urites o o @T W e guTe uet? [1]
) Wl FarEn fuen ) Wd W eEa Fal
¥) WRAE SR @ agrEn e T) Sudw At

What impact did British industrialization have on people during the initial
periodin India?

A) Agriculture got aboost

B) Pressureincreased on agriculture

C) Indian trade got a boost

D) All of these
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Vil) SISl & S1g TRISRUT ST GHTE WRAR T R oft ugr 3 ua feraem 22 [1]
A) fo= d) T &I
|) 3 g THTET ™

‘Urbanisation has had itsimpact on Indian villages after independence’. Whose
viewsarethese?

A) Ridey B) Auguste Comte
C) Irawati Karve D) M.SA. Rao
Viii) sftufafies wra HR-oF @ Hhfaat @ uftm or? [1]
1)  wd we ) we-foar
|) ugt g g) ugw @l
Which evilsdid colonial Indiasuffer from?
A) Sati practice B) Child-Marriage
C) Purdah system D) All of these
iX) snyfierar o 8 fremi- [1]

)  whHUT ORI o T W AEHHE YT S

q)  HIEAIST, WS % TH W O W A

) W % TYH W AW i TE

3)  Iugw At

Modernity isthat in which -

A) Importance of universal perspectivein place of parochial view
B) Importance of sciencein place of emotions and tradition

C) Importance of ability in place of birth

D) All of above
X) ‘hWE UUE HigH UCIea UEaeh o oIdh hid 87 [1]
)  shfem VIR C
") T el g) <R T
Who is the author of the book 'Caste and Modern Politics?
A) Srinivas B) Ghurye
C) RaniKothari D) Dipankar Gupta
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Xi) ‘T mHefea 3feTR’ UEAh o i@ HiF 87 [1]

HA)  IAA A ¥)  duet
H) AT e 3) TU.IMW. B
Who isthe author of the book "'The Argumentative Indian'?
A) AmartyaSen B) Naorqji
C) MahatmaGandhi D) A.R Desa
Xii) .. SHfFam % STER TR A T SIfd’ T IqTEn 37 [1]
) TER-HON )  We-TSIh
q)  IER-vE 3)  wM-EE
According to M.N. Srinivas the example of dominant caste of Rajasthan is?
A) Gurjar - Meena B) Jaat - Rajput
C) Ahir-Mev D) Kamma- Reddy
xiii) faffew @ ol wenfat o 9= T g? [1]
HA)  Hiw R wE q) el @A &
H) Oad F9G4 & g) UNER ged &
What are government workers scared of due to disinvestment?
A) To do more work B) Of losingjob
C) Toincreasesaary D) Of family splitting
xiv) fera foren ® Yeen SRt (TifRreet) o SeEe T Wit gfusen’ g 37 [1]
A) W q)  wgaet
|) R @G 3) €&
Inwhichfilm doestheradio jockey (heroine) announce'Good Morning India?
A) Sholay B) Baahubdi
C) LageRahoMunnaBhai D) Saudagar
xv) ‘Tafoe demE we W qenes’ e o ol i 8 ? [1]
) k. A )  THAYE™ I
|) TRk el g) Anmad Rude
Who is the author of the book 'Civil Society and Social Movement'?
A) T.K. Oommen B) Ghanshyam Shah
C) Maitrayee Chaudhuri D) Nongbri Tiplut
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2) s Mt & gfd Rt -

Fill intheblanks:-

) FoEoferRdam - aFTFE T @A i, URER HgAT 2l [1]
The family in which parents and their children live is caled a
family.

i) e TERld H A ® urht ST 21 [1]

isfound in diversity in Indian culture.

jii) e R P FAEE H T g R e, e 2 [1]
Jainism accountsfor percentage of the total population of India

iv) forerht suftEvEe ... ST TR TR 27| [1]
British colonialism was based on system.

V) T HEATT e, wor o1 ferier femam| [1]
Raja Ram Mohan Roy opposed the practice of

Vi) FEERARTAR .ooeenrrrnnnen, 2l [1]
The essence of law isits :

Vi) WRA T TS GO I ..o a2 [1]
The oldest industry in Indiais industry.

3) rfoeTeRIcTS T (-
Very Short Answer Questions :-
FrafeRaa gvAt & SR v ufs # i -

Givetheanswer of following questionsin oneline:-

) Toryy Uy o A e A 37 [1]
What ismeant by infant mortality rate?

i) IR ST e SIS Bt @7 [1]
Who does demographic dividend arise?

jii) Tees fotu “ues Wt U oM, U v’ @ AW feREa fen? [1]
Who gave the slogan of "One Caste, One Religion, One God for all men"?
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ivV) ‘o fuser st o foru s U 91 e o Am fafam) [Va+Ye=1]
Write the name of two commissions created for 'Other Backward Classes.

V) g FWiu § g da % A faRen) [1]
Writethe name of the elements hel pful in nation building.

Vi) I R E R §? [1]
What is the essence of justice?

Vii) T SRR Rt STaeron foRa Sar @ e ot ? [1]
Which leader liked the concept of local government?
Viii) YaarSt sreren # @A’ o 33 29 [1]
What isthe meaning of ryot in ryotwari system?
iX) ATATEEl | @R aredd @ e [1]
What is meant by lockout?
X) i % q 59 feifan) [Va+Yo=1]
Write two forms of culture.
s - d
SECTION - B
AN T -
Short Answer Questions :-
4) s e Hifa, 2017 % wiE 3 v fafem) [1+1=2]

Write any two objectives of 'National Health Policy 2017'.

5) =t qen Sifd § whig a1 3= Sd13u) [1+1=2]
Mention any two differences between varna and caste.
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6)

7)

8)

9)

10)

11)

12)

13)

14)

HYh Uftam St i 3t e fafem) [1+1=2]

Write any two characteristics of joint family.

GG o i3 al TTETuT Farsu| [1+1=2]

Mention any two characteristics of capitalism.

HTCHEATRIUT & ThIaUT h Hifd § 3t fefem) [2]
Write the difference between policy of integrationist and assimilationist.

HErehtu Y QN AT ferRa| [1+1=2]
Writetwo criticisms of Sanskritisation.

dfaa™ @ 3. 21 % aR § S| [2]
Mention about Article 21 of the constitution.

FHN TUH N WRA § IgReR0T 9 FfeRton 3 @ g fafRam) [1+1=2]
Write two side effects of liberalization and privatisation in India as agricultural
country.

FSATA & ATeATeal | 3= WY Fhifem| [1+1=2]
Explain the difference between strike and lockout.

YHUSEHIHAUT o URUTHETEY WA ARl 9 T&hid ¥ W 916t ®ig & A= uiada
fofa [1+1=2]
Write any two general changes in Indian economy and culture as a result of
globaization.

T A ol 32 [2]
What is soap opera called?

15) @i Hider fRl FEd 37 o1 SRHTaeUl TR Siee 1 S 8 [1+1=2)

What iscalled social movement?|s Sanskritisation an example of social movement?

SS-29-Sociology 5023 [ Turn Over



10
Que - |
SECTION - C

ﬁﬁﬁ'ﬂ'ﬂmz—

Long Answer Questions :-

16)

17)

18)

19)

WA ® Ei-ge 31U (fermguma) # fivae & Hiferss SRt ememsy)| [3]

Explain the fundamental reasonsfor the declinein the sex-ratioin India?
Frgar/OR

a1 fermgum (0-6 o) ¥ fivrae % 9ot wRuit W gk S| [3]

Highlight on the main causes of declinein child sex ratio (0-6 years).

YUUSEHIHT 3 AT i fore werR wenfera femen 22 wifem auia Al [3]
How has globalisation affected politics? Describe briefly.

et/ OR
TeAaRIT-eh STeieTael | oIl ATeud 2 ? AHeEy| [3]

What is meant by electronic economy? Explain.

WA | eelifaH o foeea W (1959 & 1990 dek) wiam vt foRau) [3]

Write a short note on the development of television (from 1959 to 1990) in India.
Far/OR

IENIEAUT o A1 URA | U .UH. e Ryt & aR | g auia fifm) [3]

Briefly describe about the F.M. Radio stationsin India after liberalisation.

AR AT hl hig B fa9amn fefau) [6%%=3]
Write any six characteristics of social movement.

Fat/OR
uitfefaehta stidier diem i i) [3]

Briefly describe about ecol ogical movement.
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©us - 3§
SECTION - D

e v (200 v1s8) :-
Essay type questions (200 words) :-

20) SufiavETe 9 U SRl & Snfadie | ST o= THed 8 ? [4]
What do you understand by colonialism and the emergence of new markets?
Far/OR
IS0 | 1 AT ¢ ? 38eh HehRIceh & HehRIcieh THIEl U TehT9l Sifetu| [1+1Y2+114=4]

What ismeant by liberalization? Highlight on its positive and negative effects.

21) wrtoTeh fereman s 22 fowmean w snenfia amntsen e i saren w3 9 d= fagia
) [1+3=4]

What issocial inequality? Writethreetheoriesthat explain social stratification based
oninequality.

et/ OR
gaug foRel hgd ? SfiufafTeh 3ereRuT wfgd auid il [1+3=4]
What is prejudice? Describe with colonial example.

22) gita shifdl o THRICHSE o THRICHSE: TS hl Tt hifTu| [2+2=4]
Discuss the positive and negative effects of Green Revolution.
et/ OR
TEAAA1 TITH & 15 ATHUT THIS | gU URaEdH1 &t OR $4 § 3g@ iy [4]

Briefly mention the changesthat took placein therural society after independence.
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